

Generalizations of Eneström-Kakeya Theorem

Gulshan Singh

Government Department of Education,
Jammu and Kashmir, India.

E-mail: gulshansingh1@rediffmail.com

ABSTRACT. If $P(z) := \sum_{j=0}^n \alpha_j z^j$ be a polynomial of degree n such that $\alpha_j = a_j + ib_j$ where a_j and $b_j, j=0,1,\dots,n$ are real numbers. In this paper, we prove some extensions and generalizations of the classical results of the well known Eneström-Kakeya theorem by imposing restrictions on the complex coefficients of a polynomial in order to give bounds concerning the number of zeros in a specific region of the complex plane. Also, a variety of interesting results can be deduced from them by a uniform procedure.

1 Introduction and Statement of Results

Determining zero bounds for real and complex polynomials is a classical problem that has been proven essential in various disciplines such as engineering, mathematical chemistry. Numerical methods have been developed that can be applied to polynomials with real or complex roots [1, 2]. Moreover, upper and lower bounds have been investigated to locate the zeros of polynomials [3, 4]. Over last five decades, a large number of research papers, e.g., [5-8, 9, 10, 11, 12] and monographs [13-15] have been published. Gauss and Cauchy were the earliest contributors in the theory of the location of zeros of a polynomial, and since then an extensive research has been done in this subject by many people. There is always a need for refinement of results in this subject because of its application in many areas, including signal processing, communication theory, and control theory.

The following result is well known in the theory of the distribution of zeros of polynomials.

Theorem A(Eneström-Kakeya). *If $P(z) := \sum_{j=0}^n a_j z^j$ is a polynomial of degree n such that*

* Corresponding Author.

Received August 11, 2017; revised November 11, 2017; accepted November 28, 2017.

2010 Mathematics Subject Classification: 30C10, 30C15.

Key words and phrases: Polynomial, Zeros, Eneström-Kakeya theorem.

This is an open access article under the CC BY license <http://creativecommons.org/licenses/by/3.0/>.

$$a_n \geq a_{n-1} \geq a_{n-2} \geq \dots \geq a_1 \geq a_0 \geq 0,$$

then $P(z)$ does not vanish in $|z| > 1$.

There already exist in literature[1-19], certain generalizations and refinements of Eneström-Keakeya theorem. The Eneström-Keakeya theorem is a very strong tool to find the region in the complex plane containing all the zeros of a class of polynomials. It has been used to analyze overflow oscillation of discrete-time dynamical system, to investigate the properties of orthogonal wavelets, and to determine the asymptotic behaviour of zeros of the Daubechies filter, in addition for application to a model of high energy collisions. Joyal *et al.* [10] obtained the following generalization, by considering the coefficients to be real, instead of being only positive.

Theorem B. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that

$$a_n \geq a_{n-1} \geq a_{n-2} \geq \dots \geq a_1 \geq a_0,$$

then all the zeros of $P(z)$ lie in

$$|z| \leq \frac{1}{|a_n|} \{a_n - a_0 + |a_0|\}.$$

Dewan and Bidkham [8] generalized Theorem B and proved the following:

Theorem C. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $t > 0$ and $0 < \lambda \leq n$,

$$a_n t^n \leq a_{n-1} t^{n-1} \leq \dots \leq a_\lambda t^\lambda \geq a_{\lambda-1} t^{\lambda-1} \geq \dots \geq t a_1 \geq a_0,$$

then $P(z)$ has all the zeros in the circle

$$|z| \leq \frac{t}{|a_n|} \left\{ \left(\frac{2a_\lambda}{t^{n-\lambda}} - a_n \right) + \frac{1}{t^n} (|a_0| - a_0) \right\}.$$

Aziz and Zargar [5] also relaxed the hypothesis of Eneström-Keakeya theorem in a different way and proved the following results.

Theorem D. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $k \geq 1$,

$$k a_n \geq a_{n-1} \geq a_{n-2} \geq \dots \geq a_1 \geq a_0 > 0,$$

then all the zeros of $P(z)$ lie in

$$|z + k - 1| \leq k.$$

Theorem E. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $k \geq 1$,

$$k a_n \geq a_{n-1} \geq a_{n-2} \geq \dots \geq a_1 \geq a_0,$$

then all the zeros of $P(z)$ lie in

$$|z + k - 1| \leq \frac{k a_n - a_0 + |a_0|}{|a_n|}.$$

The following result concerning the number of zeros in a closed disk is due to Mohammad [16].

Theorem F. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that

$$a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 > 0,$$

then the number of zeros of $P(z)$ in $|z| \leq \frac{1}{2}$ does not exceed

$$1 + \frac{1}{\log 2} \log \frac{a_n}{a_0}. \quad (1)$$

Bidkham and Dewan [6] generalized the above theorem for different classes of polynomials and among other things proved the following result:

Theorem G. Let $P(z) := \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that

$$a_n \leq a_{n-1} \leq \dots \leq a_{\lambda+1} \leq a_\lambda \geq a_{\lambda-1} \geq \dots \geq a_1 \geq a_0$$

for some $\lambda, 0 \leq \lambda \leq n$, then the number of zeros of $P(z)$ in $|z| \leq \frac{1}{2}$ does not exceed

$$\frac{1}{\log 2} \left\{ \log \frac{|a_n| + |a_0| - a_n - a_0 + 2a_\lambda}{|a_0|} \right\}. \quad (2)$$

The aim of this paper is to prove some extensions of Eneström-Kekeya theorem (Theorem A) by relaxing the hypothesis in different ways. In this paper, we also generalize Theorem F.

Here, we shall first prove the following generalization of Theorem D which is an interesting extension of Theorem A.

Theorem 1. Let $P(z) := \sum_{j=0}^n \alpha_j z^j$ be a polynomial of degree n such that $\alpha_j = a_j + ib_j$ where a_j and $b_j, j=0,1,\dots,n$ are real numbers. Then for some real numbers $t_1, t_2, k_1, k_2, \rho_1, \rho_2, 0 \leq r \leq n-1$ and $a_{n-r} \neq 0, b_{n-r} \neq 0$,

$$t_1 a_n \geq a_{n-1} \geq \dots \geq a_{n-r+1} \geq k_1 a_{n-r} \geq a_{n-r-1} \geq \dots \geq a_1 \geq \rho_1 a_0,$$

$$t_2 b_n \geq b_{n-1} \geq \dots \geq b_{n-r+1} \geq k_2 b_{n-r} \geq b_{n-r-1} \geq \dots \geq b_1 \geq \rho_2 b_0,$$

if $a_{n-r-1} > a_{n-r}, b_{n-r-1} > b_{n-r}$, then all the zeros of $P(z)$ lie in the disk $|z| \leq R_1$, where R_1 is the greatest positive root of the equation

$$D^{r+1} - \delta_1 D^r - |\tau_1| = 0,$$

where

$$\tau_1 = \frac{(k_1-1)a_{n-r} + i(k_2-1)b_{n-r}}{\alpha_n}$$

and

$$\delta_1 = \frac{1}{|\alpha_n|} \left\{ t_1 a_n + |t_1 - 1| |a_n| + (k_1 - 1) a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| + |a_0| \right. \\ \left. + t_2 b_n + |t_2 - 1| |b_n| + (k_2 - 1) b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \right\}.$$

If $a_{n-r} > a_{n-r+1}$, $b_{n-r} > b_{n-r+1}$, then all the zeros of $P(z)$ lie in the disk $|z| \leq R_2$, where R_2 is the greatest positive root of the equation

$$D^r - \delta_2 D^{r-1} - |\tau_2| = 0,$$

where

$$\tau_2 = \frac{(1-k_1)a_{n-r} + i(1-k_2)b_{n-r}}{\alpha_n}$$

and

$$\delta_2 = \frac{1}{|\alpha_n|} \left\{ t_1 a_n + |t_1 - 1| |a_n| + (1 - k_1) a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| + |a_0| \right. \\ \left. + t_2 b_n + |t_2 - 1| |b_n| + (1 - k_2) b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \right\}.$$

Theorem 2. Let $P(z) := \sum_{j=0}^n \alpha_j z^j$ be a polynomial of degree n with complex coefficients. If $\alpha_j = a_j + ib_j$ where a_j and b_j , $j=0,1,\dots,n$ are real numbers and for some real numbers $t_1, t_2, k_1, k_2 \geq 1$, $0 < \rho_1, \rho_2 \leq 1$ and $0 \leq r \leq n$,

$$t_1 a_n \geq a_{n-1} \geq \dots \geq a_{r+1} \geq k_1 a_r \geq a_{r-1} \geq \dots \geq a_1 \geq \rho_1 a_0,$$

$$t_2 b_n \geq b_{n-1} \geq \dots \geq b_{r+1} \geq k_2 b_r \geq b_{r-1} \geq \dots \geq b_1 \geq \rho_2 b_0,$$

then the number of zeros of $P(z)$ in $\frac{|\alpha_0|}{M_1} \leq |z| \leq \tau$, $0 < \tau < 1$ does not exceed

$$\frac{1}{\log \frac{1}{\tau}} \log \frac{1}{|\alpha_0|} \left\{ t_1 (|a_n| + a_n) + (k_1 - 1) (|a_r| + a_r) - \rho_1 (|a_0| + a_0) + 2|a_0| + t_2 (|b_n| + b_n) + (k_2 - 1) (|b_r| + b_r) - \right. \\ \left. \rho_2 (|b_0| + b_0) + 2|b_0| \right\},$$

where

$$M_1 = \left\{ t_1 (|a_n| + a_n) + (k_1 - 1) (|a_r| + a_r) - \rho_1 (|a_0| + a_0) + |a_0| \right. \\ \left. + t_2 (|b_n| + b_n) + (k_2 - 1) (|b_r| + b_r) - \rho_2 (|b_0| + b_0) + |b_0| \right\}.$$

2 Lemmas

For the proof of Theorem 2, we need the following lemma

Lemma 1: *If $f(z)$ is regular, $f(0) \neq 0$ and $|f(z)| \leq M$ in $|z| \leq 1$, then the number of zeros of $f(z)$ in $|z| \leq \tau$, $0 < \tau < 1$, does not exceed*

$$\frac{1}{\log \frac{1}{\tau}} \log \frac{M}{|f(0)|} \quad (\text{see [17]}).$$

3 Proofs of Theorems

Proof of Theorem 1. If $a_{n-r-1} > a_{n-r}$, $b_{n-r-1} > b_{n-r}$, then $a_{n-r+1} > a_{n-r}$, $b_{n-r+1} > b_{n-r}$.

Consider the polynomial

$$\begin{aligned} F(z) &= (1-z)P(z) \\ &= -\alpha_n z^{n+1} - (k_1 - 1)a_{n-r} z^{n-r} + [(t_1 a_n - a_{n-1}) - (t_1 a_n - a_n)]z^n + \dots \\ &\quad + (a_{n-r+1} - a_{n-r})z^{n-r+1} + (k_1 a_{n-r} - a_{n-r-1})z^{n-r} + (a_{n-r-1} - a_{n-r-2})z^{n-r-1} + \dots \\ &\quad + [(a_1 - \rho_1 a_0) + (\rho_1 a_0 - a_0)]z + a_0 \\ &\quad + i \left\{ -b_n z^{n+1} - (k_2 - 1)b_{n-r} z^{n-r} + [(t_2 b_n - b_{n-1}) - (t_2 b_n - b_n)]z^n + \dots \right. \\ &\quad \left. + (b_{n-r+1} - b_{n-r})z^{n-r+1} + (k_2 b_{n-r} - b_{n-r-1})z^{n-r} + (b_{n-r-1} - b_{n-r-2})z^{n-r-1} + \dots \right. \\ &\quad \left. + [(b_1 - \rho_2 b_0) + (\rho_2 b_0 - b_0)]z + b_0 \right\}. \end{aligned}$$

Let $|z| > 1$, so that $\frac{1}{|z|^{n-j}} < 1$, $0 \leq j < n$ and we have

$$\begin{aligned} |F(z)| &\geq |\alpha_n z^{n+1} + [(k_1 - 1)a_{n-r} + i(k_2 - 1)b_{n-r}]z^{n-r}| - |z|^n \left\{ |t_1 a_n - a_{n-1}| + |t_1 - 1||a_n| + \dots \right. \\ &\quad \left. + \frac{|a_{n-r+1} - a_{n-r}|}{|z|^{r-1}} + \frac{|k_1 a_{n-r} - a_{n-r-1}|}{|z|^r} + \frac{|a_{n-r-1} - a_{n-r-2}|}{|z|^{r+1}} + \dots \right. \\ &\quad \left. + \frac{|a_1 - \rho_1 a_0|}{|z|^{n-1}} + \frac{|\rho_1 - 1||a_0|}{|z|^{n-1}} + \frac{|a_0|}{|z|^n} \right. \\ &\quad \left. + |t_2 b_n - b_{n-1}| + |t_2 - 1||b_n| + \dots \right. \\ &\quad \left. + \frac{|b_{n-r+1} - b_{n-r}|}{|z|^{r-1}} + \frac{|k_2 b_{n-r} - b_{n-r-1}|}{|z|^r} + \frac{|b_{n-r-1} - b_{n-r-2}|}{|z|^{r+1}} + \dots \right. \\ &\quad \left. + \frac{|b_1 - \rho_2 b_0|}{|z|^{n-1}} + \frac{|\rho_2 - 1||b_0|}{|z|^{n-1}} + \frac{|b_0|}{|z|^n} \right\} \end{aligned}$$

$$\begin{aligned}
&\geq |\alpha_n z^{n+1} + [(k_1 - 1)a_{n-r} + i(k_2 - 1)b_{n-r}]z^{n-r}| - |z|^n \left\{ t_1 a_n - a_{n-1} + |t_1 - 1| |a_n| + \dots \right. \\
&\quad + (a_{n-r+1} - a_{n-r}) + (k_1 a_{n-r} - a_{n-r-1}) + (a_{n-r-1} - a_{n-r-2}) + \dots \\
&\quad + (a_1 - \rho_1 a_0) + |\rho_1 - 1| |a_0| + |a_0| \\
&\quad + t_2 b_n - b_{n-1} + |t_2 - 1| |b_n| + \dots \\
&\quad + (b_{n-r+1} - b_{n-r}) + (k_2 b_{n-r} - b_{n-r-1}) + (b_{n-r-1} - b_{n-r-2}) + \dots \\
&\quad \left. + (b_1 - \rho_2 b_0) + |\rho_2 - 1| |b_0| + |b_0| \right\} \\
&= |z|^{n-r} |\alpha_n z^{r+1} + [(k_1 - 1)a_{n-r} + i(k_2 - 1)b_{n-r}]| - |z|^n \left\{ t_1 a_n + |t_1 - 1| |a_n| + (k_1 - 1)a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| + |a_0| \right. \\
&\quad \left. + t_2 b_n + |t_2 - 1| |b_n| + (k_2 - 1)b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \right\} \\
&> 0,
\end{aligned}$$

$$\text{if } |z|^{r+1} + \tau_1 - |z|^r \delta_1 > 0,$$

where

$$\tau_1 = \frac{[(k_1 - 1)a_{n-r} + i(k_2 - 1)b_{n-r}]}{\alpha_n}$$

and

$$\begin{aligned}
\delta_1 = \frac{1}{|\alpha_n|} \left\{ t_1 a_n + |t_1 - 1| |a_n| + (k_1 - 1)a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| + |a_0| \right. \\
\left. + t_2 b_n + |t_2 - 1| |b_n| + (k_2 - 1)b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \right\}.
\end{aligned}$$

This inequality holds if

$$|z|^{r+1} - \delta_1 |z|^r - |\tau_1| > 0.$$

Hence all the zeros of $P(z)$ with modulus greater than one lie in the disk $|z| \leq R_1$, where R_1 is the greatest positive root of the equation

$$D^{r+1} - \delta_1 D^r - |\tau_1| = 0.$$

But the zeros of $P(z)$ with modulus less than or equal to one are already contained in the disk $|z| \leq R_1$, where $R_1 > 1$ (see [7]. Remark 1), this proves the first part of the theorem.

Now, for the second part, If $a_{n-r} > a_{n-r+1}$, $b_{n-r} > b_{n-r+1}$, then $a_{n-r} > a_{n-r-1}$, $b_{n-r} > b_{n-r-1}$ and $F(z)$ can be written as

$$\begin{aligned} F(z) &= (1-z)P(z) \\ &= -a_n z^{n+1} - (1-k_1)a_{n-r} z^{n-r+1} + [(t_1 a_n - a_{n-1}) - (t_1 a_n - a_n)]z^n + \dots \\ &\quad + (a_{n-r+1} - k_1 a_{n-r})z^{n-r+1} + (a_{n-r} - a_{n-r-1})z^{n-r} + (a_{n-r-1} - a_{n-r-2})z^{n-r-1} + \dots \\ &\quad + [(a_1 - \rho_1 a_0) + (\rho_1 a_0 - a_0)]z + a_0 \\ &\quad + i \left\{ -b_n z^{n+1} - (1-k_2)b_{n-r} z^{n-r+1} + [(t_2 b_n - b_{n-1}) - (t_2 b_n - b_n)]z^n + \dots \right. \\ &\quad \left. + (b_{n-r+1} - k_2 b_{n-r})z^{n-r+1} + (b_{n-r} - b_{n-r-1})z^{n-r} + (b_{n-r-1} - b_{n-r-2})z^{n-r-1} + \dots \right. \\ &\quad \left. + [(b_1 - \rho_2 b_0) + (\rho_2 b_0 - b_0)]z + b_0 \right\} \end{aligned}$$

Let $|z| > 1$, so that $\frac{1}{|z|^{n-j}} < 1$, $0 \leq j < n$ and we have

$$\begin{aligned} |F(z)| &\geq |a_n z^{n+1} + [(1-k_1)a_{n-r} + i(1-k_2)b_{n-r}]z^{n-r+1}| - |z|^n \left\{ |t_1 a_n - a_{n-1}| + |t_1 - 1||a_n| + \dots \right. \\ &\quad \left. + \frac{|a_{n-r+1} - k_1 a_{n-r}|}{|z|^{r-1}} + \frac{|a_{n-r} - a_{n-r-1}|}{|z|^r} + \frac{|a_{n-r-1} - a_{n-r-2}|}{|z|^{r+1}} + \dots \right. \\ &\quad \left. + \frac{|a_1 - \rho_1 a_0|}{|z|^{n-1}} + \frac{|\rho_1 - 1||a_0|}{|z|^{n-1}} + \frac{|a_0|}{|z|^n} \right. \\ &\quad \left. + |t_2 b_n - b_{n-1}| + |t_2 - 1||b_n| + \dots \right. \\ &\quad \left. + \frac{|b_{n-r+1} - k_2 b_{n-r}|}{|z|^{r-1}} + \frac{|b_{n-r} - b_{n-r-1}|}{|z|^r} + \frac{|b_{n-r-1} - b_{n-r-2}|}{|z|^{r+1}} + \dots \right. \\ &\quad \left. + \frac{|b_1 - \rho_2 b_0|}{|z|^{n-1}} + \frac{|\rho_2 - 1||b_0|}{|z|^{n-1}} + \frac{|b_0|}{|z|^n} \right\} \\ &\geq |a_n z^{n+1} + [(1-k_1)a_{n-r} + i(1-k_2)b_{n-r}]z^{n-r+1}| - |z|^n \left\{ |t_1 a_n - a_{n-1}| + |t_1 - 1||a_n| + \dots \right. \end{aligned}$$

$$\begin{aligned}
& + (a_{n-r+1} - k_1 a_{n-r}) + (a_{n-r} - a_{n-r-1}) + (a_{n-r-1} - a_{n-r-2}) + \dots \\
& + (a_1 - \rho_1 a_0) + |\rho_1 - 1| |a_0| + |a_0| \\
& + t_2 b_n - b_{n-1} + |t_2 - 1| |b_n| + \dots \\
& + (b_{n-r+1} - k_2 b_{n-r}) + (b_{n-r} - b_{n-r-1}) + (b_{n-r-1} - b_{n-r-2}) + \dots \\
& + (b_1 - \rho_2 b_0) + |\rho_2 - 1| |b_0| + |b_0| \}
\end{aligned}$$

$$\begin{aligned}
& = |z|^{n-r+1} |\alpha_n z^{r+1} + [(1-k_1)a_{n-r} + i(1-k_2)b_{n-r}] - |z|^n \{ t_1 a_n + |t_1 - 1| |a_n| + (1-k_1)a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| \\
& + |a_0| + t_2 b_n + |t_2 - 1| |b_n| + (1-k_2)b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \} \\
& > 0,
\end{aligned}$$

$$\text{if } |z|^r + \tau_2 - |z|^{r-1} \delta_2 > 0,$$

where

$$\tau_2 = \frac{[(1-k_1)a_{n-r} + i(1-k_2)b_{n-r}]}{\alpha_n}$$

and

$$\begin{aligned}
\delta_2 = \frac{1}{|\alpha_n|} \{ & t_1 a_n + |t_1 - 1| |a_n| + (1-k_1)a_{n-r} - \rho_1 a_0 + |\rho_1 - 1| |a_0| + |a_0| \\
& + t_2 b_n + |t_2 - 1| |b_n| + (1-k_2)b_{n-r} - \rho_2 b_0 + |\rho_2 - 1| |b_0| + |b_0| \}.
\end{aligned}$$

This inequality holds if

$$|z|^r - \delta_2 |z|^{r-1} - |\tau_2| > 0.$$

Hence all the zeros of $P(z)$ with modulus greater than one lie in the disk $|z| \leq R_2$, where R_2 is the greatest positive root of the equation

$$D^r - \delta_2 D^{r-1} - |\tau_2| = 0.$$

But the zeros of $P(z)$ with modulus less than or equal to one are already contained in the disk $|z| \leq R_2$, where $R_2 > 1$ (see [7]. Remark 2), this proves the second part of the theorem.

Proof of Theorem 2. Consider the polynomial

$$\begin{aligned} H(z) &= (1-z)P(z) \\ &= -\alpha_n z^{n+1} + (\alpha_n - \alpha_{n-1})z^n + \dots + (\alpha_{r+1} - \alpha_r)z^{r+1} + \dots + (\alpha_1 - \alpha_0)z + \alpha_0 \\ &= -\alpha_n z^{n+1} + [(t_1 a_n - a_{n-1}) - (t_1 a_n - a_n)]z^n + \dots \\ &\quad + (a_{r+1} - a_r)z^{r+1} + [(k_1 a_r - a_{r-1}) - (k_1 a_r - a_r)]z^r + (a_{r-1} - a_{r-2})z^{r-1} \dots \\ &\quad + [(a_1 - \rho_1 a_0) + (\rho_1 a_0 - a_0)]z + a_0 \\ &\quad + i \left\{ -b_n z^{n+1} + [(t_2 b_n - b_{n-1}) - (t_2 b_n - b_n)]z^n + \dots \right. \\ &\quad \left. + (b_{r+1} - b_r)z^{r+1} + [(k_2 b_r - b_{r-1}) - (k_2 b_r - b_r)]z^r + (b_{r-1} - b_{r-2})z^{r-1} \dots \right. \\ &\quad \left. + [(b_1 - \rho_2 b_0) + (\rho_2 b_0 - b_0)]z + b_0 \right\}. \end{aligned}$$

For $|z| \leq 1$ and by using the hypothesis, we get

$$\begin{aligned} |H(z)| &\leq \left\{ t_1(|a_n| + a_n) + (k_1 - 1)(|a_r| + a_r) - \rho_1(|a_0| + a_0) + 2|a_0| \right. \\ &\quad \left. + t_2(|b_n| + b_n) + (k_2 - 1)(|b_r| + b_r) - \rho_2(|b_0| + b_0) + 2|b_0| \right\}. \end{aligned}$$

Therefore, by using Lemma 1, we conclude that the number of zeros of $H(z)$ and hence $P(z)$ in $|z| \leq \tau$, $0 < \tau < 1$ does not exceed

$$\frac{1}{\log \frac{1}{\tau}} \log \frac{1}{|a_0|} \left\{ t_1(|a_n| + a_n) + (k_1 - 1)(|a_r| + a_r) - \rho_1(|a_0| + a_0) + 2|a_0| + t_2(|b_n| + b_n) + (k_2 - 1)(|b_r| + b_r) - \rho_2(|b_0| + b_0) + 2|b_0| \right\}.$$

In order to show that $P(z)$ has no zeros in $\frac{|a_0|}{M_1} \leq |z|$, we consider

$$\begin{aligned} H(z) &= (1-z)P(z) \\ &= -\alpha_n z^{n+1} + (\alpha_n - \alpha_{n-1})z^n + \dots + (\alpha_{r+1} - \alpha_r)z^{r+1} + \dots + (\alpha_1 - \alpha_0)z + \alpha_0 \\ &= -\alpha_n z^{n+1} + [(t_1 a_n - a_{n-1}) - (t_1 a_n - a_n)]z^n + \dots \\ &\quad + (a_{r+1} - a_r)z^{r+1} + [(k_1 a_r - a_{r-1}) - (k_1 a_r - a_r)]z^r + (a_{r-1} - a_{r-2})z^{r-1} \dots \\ &\quad + [(a_1 - \rho_1 a_0) + (\rho_1 a_0 - a_0)]z + a_0 \\ &\quad + i \left\{ -b_n z^{n+1} + [(t_2 b_n - b_{n-1}) - (t_2 b_n - b_n)]z^n + \dots \right. \\ &\quad \left. + (b_{r+1} - b_r)z^{r+1} + [(k_2 b_r - b_{r-1}) - (k_2 b_r - b_r)]z^r + (b_{r-1} - b_{r-2})z^{r-1} \dots \right. \\ &\quad \left. + [(b_1 - \rho_2 b_0) + (\rho_2 b_0 - b_0)]z + b_0 \right\}. \\ &= \alpha_0 + E(z), \end{aligned}$$

where

$$\begin{aligned}
E(z) = & -a_n z^{n+1} + [(t_1 a_n - a_{n-1}) - (t_1 a_n - a_n)]z^n + \dots \\
& + (a_{r+1} - a_r)z^{r+1} + [(k_1 a_r - a_{r-1}) - (k_1 a_r - a_r)]z^r + (a_{r-1} - a_{r-2})z^{r-1} \dots \\
& + [(a_1 - \rho_1 a_0) + (\rho_1 a_0 - a_0)]z \\
& + i \left\{ -b_n z^{n+1} + [(t_2 b_n - b_{n-1}) - (t_2 b_n - b_n)]z^n + \dots \right. \\
& + (b_{r+1} - b_r)z^{r+1} + [(k_2 b_r - b_{r-1}) - (k_2 b_r - b_r)]z^r + (b_{r-1} - b_{r-2})z^{r-1} \dots \\
& \left. + [(b_1 - \rho_2 b_0) + (\rho_2 b_0 - b_0)]z \right\}.
\end{aligned}$$

For $|z| \leq 1$, we have

$$\begin{aligned}
\max_{|z|=1} |E(z)| \leq & \left\{ t_1(|a_n| + a_n) + (k_1 - 1)(|a_r| + a_r) - \rho_1(|a_0| + a_0) + |a_0| \right. \\
& \left. + t_2(|b_n| + b_n) + (k_2 - 1)(|b_r| + b_r) - \rho_2(|b_0| + b_0) + |b_0| \right\} = M_1.
\end{aligned}$$

Therefore,

$$\begin{aligned}
|H(z)| &= |\alpha_0 + E(z)| \\
&\geq |\alpha_0| - |E(z)| \\
&\geq |\alpha_0| - |z| \max_{|z|=1} |E(z)| \\
&\geq |\alpha_0| - |z| M_1 \\
&> 0 \text{ if } |z| < \frac{|\alpha_0|}{M_1}.
\end{aligned}$$

This shows that $H(z)$ and hence $P(z)$ has no zeros in $|z| < \frac{|\alpha_0|}{M_1}$. This proves the Theorem 2 completely.

Conclusion: Finding the roots of a polynomial is an interesting area of research for engineers as well as mathematicians because of their applications in linear control system, signal processing, electrical networks, coding theory and several areas of physical sciences, where among others location of zeros and stability problems arise in a natural way. Polynomials in various forms have recently come under extensive revision because of their applications in the above mentioned fields. Many more interesting results can be deduced in a similar procedure.

Acknowledgement: The authors are extremely grateful to the referee(s) for their valuable suggestions.

References

- [1] W. Heitzinger, W. I. Troch and G. Valentin, *Praxis nichtlinearer Gleichungen*, Carl Hanser Verlag, münchen, Wien, Germany, Austria, 1985.
- [2] M. Mignotte, D. Stefanescu, *Polynomials: An Algorithmic Approach, Discrete Mathematics and Theoretical Computer Science*, Springer, 1999.
- [3] M. Marden, *Geometry of polynomials*, IInd Ed. Math. Surveys 3, Amer. Math. Soc., Providence, R.I.(1966).

-
- [4] Q. I. Rahman and G. Schmeisser, *Analytic theory of polynomials, critical points, zeros and extremal properties*, Clarendon Press, Oxford (2002).
- [5] A. Aziz and B. A. Zargar, *Some extensions of Eneström-Kakeya Theorem*, Glasnik Matematički, 31, (1996), 239-244.
- [6] M. Bidkham and K.K. Dewan, *On the zeros of a polynomial*, Numerical Methods and Approximation Theory III, Niš (1987), 121-128.
- [7] Y. Choo, *Further generalizations of Eneström-Kakeya Theorem*, Int. Journal of Math. Analysis, 5(20)(2011), 983-995.
- [8] K. K. Dewan and M. Bidkham, *On the Eneström-Kakeya Theorem*, J. Math. Anal. Appl. 180, (1993), 29-36.
- [9] Gulshan Singh and W. M. Shah, *Number of zeros of a polynomial in a given region*, Int. Journal of Modern Math. Sci., 1(2)(2012), 103-109.
- [10] A. Joyal, G. Labelle and Q. I. Rahman, *On the location of zeros of polynomials*, Canad. Math. Bull. 10, (1967), 53-63.
- [11] W. M. Shah and A. Liman, *On the zeros of a certain class of polynomials and related analytic functions*, Mathematika Balkanica, New Series, 19, (2005):Facs., 3-4.
- [12] W. M. Shah, A. Liman and Shamim Ahmad Bhat, *On the Eneström-Kakeya Theorem*, International Journal of Mathematical Science, 7, (1-2)(2008), 111-120.
- [13] N. Obreschkoff, *Verteilung und Berechnung der Nullstellen reeler Polynome*, Hochschulbücher für Mathematik. 55. Berlin, VEB Deutscher Verlag der Wissenschaften, (1963).
- [14] G. Polya and G. Szegő, *Problems and theorems in analysis*, Vol. 1, Springer-Verlag, Berlin-Heidelberg, 1972.
- [15] Q. I. Rahman and G. Schmeisser, *Analytic theory of polynomials*, Oxford University Press, Oxford (2002).
- [16] Q. G. Mohammad, *On the zeros of polynomials*, Amer. Math. Monthly, 72(1965), 631-633.
- [17] E. C. Titchmarsh, *Theory of functions*, 2nd edition, Oxford University Press, London, 1939.
- [18] R. Fricke, *Lehrbuch der Algebra*, Friedrich Vieweg and Sohn Verlag, Braunschweig, Germany, 1924.
- [19] G. V. Milovanovic, D. S. Mitrinovic and Th. M. Rassias, *Topics in polynomials, extremal properties, inequalities and zeros*, World Scientific Publishing Company, Singapore (1994).